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Projectile Motion

An object that is launched into the air and then comes under
the influence of gravity moves in two dimensions (up/down
and forward) and is called a projectile. The path taken by the
projectile is called a trajectory.

Projectile Launched At An Angle

Horlzontally Launched Proj ectlle

The vertical and horizontal motion of a projectile are
independent of one another.

Horizontal Motion -> The horizontal velocity of a projectile is
constant (ignoring air resistance).

Vertical Motion-> The vertical velocity of a projectile is
constantly changing due to gravity.




Projectiles Notes.notebook November 29, 2012

Projectile Fired Horizontally

Imagine the trajectory of a ball launched horizontally from

the top of a cliff.
vy, =0 m/s
Vx
O W
O Vf: Vyf
Vx
y O \Z : Vyf
Vx
o




Projectiles Notes.notebook November 29, 2012

Chapter 11 Projectiles and Circular Motion « MHR 533

You can
soe that the balls are
accelerating downward,
because the distances
thay have travelled
betweean flashes of the
stroba light are incraasing.
If you inspected the hori-
zontal motion of the ball
on the right, you would
find that it travelled tha
game horizontal distance
betweean each flash of the
stroba light.
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Example: A projectile is fired horizontally from a height of

44.1 m at a speed of 50.0 m/s. + \j
%‘1 X

a) How long after it was fired, did the projectile hit the
ground? (3.00 s)

b) How far forward did the projectile travel? (150 m)
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Example: A stone is thrown horizontally at a speed of 5.0 m/s
from the top of a cliff that is 78.4 m high.

a) How long does it take the stone to reach the bottom of the cliff?
(4.0s)

b) How far from the bottom of the cliff does the stone land? (20 m),

¢) What is the velocity of the stone as it hits the ground?
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